KARACHI WATER & SEWERAGE BOARD

OFFICE OF THE EXECUTIVE ENGINEER P.P.DIVISION. COD FILTER PLANT, GULSHAN-E-IQBAL, KARACHI. Contact No. 03333049232.

NO: EE/P.P.DIV/KW&SB/2017-2018/9/

DATED: 15-61 - 2018.

To,
The Director, (A & F)
Sindh Public Procurement Regulatory Authority,
Govt. of Sindh,
Barrack No 8, Sindh Secretariat 4-A,
Karachi

SUBJECT:- BID OPENING & EVALUATION REPORTS FOR THE WORK OF:PROVIDING AND FIXING ELECTRICAL ACCESSORIES I/C FIXING
OF MAIN CIRCUIT BREAKER 800 AMP WITH REWINDING OF
MOTORS COMPLETE JOB ETC AT 70 MGD COD HILLS.

Ref:- SPPRA Website Sr. No 35353.

Enclosed please fine herewith Attendance Sheet of Participant Contractors, Minutes of Bid Opening Meeting, Bidders Qualification Report, Comparative Statement and its Evaluation Report (in Original) for the subjected work for information and further necessary action.

NIT of the subjected work was hoisted on SPPRA's website at serial No 33646.

KHAIR MOHAMWAD SOOMRO EXECUTIVE ENGINEER P.P.DIVISION, KW&SB.

Copy to:-

- 01. The Director Design, KW&SB.
- 02. The Superintending Engineer, COD KW&SB.
- 03. The Representative of D.G (T/S), KMC.
- 04. The Representative of Finance Advisor, KMC.
- 05. All Participant Bidders.
- 06. Office Copy.

SPPRA INWARD DIARY
NO: UCUT
DATED: 16-01-18

NIT No.SPPRA Serial No.35353

Method and procedure of procurement: Open Competitive Bidding (National/ International Competitive Bidding) (Single Stage-One Envelope)

Description of work: PROVIDING AND FIXING ELECTRICAL ACCESSORIES

I/C FIXING OF MAIN CIRCUIT BREAKER 800 AMP WITH REWINDING OF MOTORS COMPLETE JOB ETC AT 70

MGD COD HILLS

Date of Opening:

14-12-2017

BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT

Eligibility/ Qualification Criteria:

		Bidders' Name					
S. No.	Eligibility / Qualification Criteria	M/s.Haris & Khurram	M/s.Universal Enterprises	M/s.Orange Star Executor			
1.	Registration with PEC (if applicable)	N/A	N/A	N/A			
2.	NTN	Yes /	Yes	Yes			
3.	Sales Tax Registration (FBR)	N/A	N/A	N/A			
4.	Registration with Sindh Revenue Board (SRB)	Yes	Yes	Yes			
	Qualification Criteria:						
5.	Minimum three year experience of relevant field.	Yes	Yes	Yes			
6.	Turnover of at least last three years	Yes	Yes	Yes			
7.	Required Bid Security is attached.	Yes	Yes	No			
8.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.	Yes	Yes	Yes			
9.	Any other factor deemed to be relevant by the procuring agency subject to provision of Rule-	N/A	N/A	N/A			
10.	Qualified/ disqualified	Qualified	Qualified	Disqualified			

D.A.O (C.O.D) Member / Secretary (Saif-ul-Haque) Additional Director Internal Audit – KMC Member (Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Zahid Jamil Qureshi) S.E (C.O.D)

Member

(Saifuddin)

Director (Design & Estimate)

NIT Sr. No. SPPRA Serial No.35353

Method of Procurement: Single Stage Single Envelope.

Name of Work: PROVIDING AND FIXING ELECTRICAL ACCESSORIES I/C FIXING
OF MAIN CIRCUIT BREAKER 800 AMP WITH REWINDING OF
MOTORS COMPLETE JOB ETC AT 70 MGD COD HILLS

MINUTES OF BID OPENING MEETING.

A meeting of the procurement committee of this department was held on 14-12-2017 for opening the bids received in respect of subject NIT till deadlines of submission. The meeting was attended by all / following members of the procurement committee and the representative of bidders.

(Attendance sheet is enclosed).

- 2. Three bidders submitted their bids till the deadline of submission.
 - i. M/s. Haris & Khurram
 - ii. M/s. Universal Enterprises
 - iii. M/s.Orange Star Executor
- 3. The bids were opened at 2:30 P.M in the presence of the above mentioned participants and the rates quoted by bidders were read aloud and encircled by Chairman of the Procurement Committee.

S. No	Name of Firm	Quoted Price	Amount of Bid Security	Pay Order No. / Date
1.	M/s.Haris & Khurram	Rs.9,70,049/ ₅	Rs.20,000/-	P.O # 04132284, dt:07-12-2017 from Bank Al Habib Ltd Stadium Road Branch Karachi.
2.	M/s.Universal Enterprises	Rs.9,73,995/-	Rs.20,000/-	P.O # 18033107 dt:28-11-2017 from HBL Sindh Secretariat Branch Karachi.
3	M/s.Orange Star Executor	Not Quoted	2	Pay Order not attached.

- The bids do not contain any cutting or overwriting.
- 5. The committee shall examine all the bids as per the qualification / eligibility criteria provided in the bidding document and verify the documents and bid security submitted by the bidders (if required).

6. The meeting ended with the vote of thanks to and from the chair.

D.A.O (O.D) Member / Secretary (Saif-ul-Haque) Additional Director Internal Audit – KMC Member (Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Zahid Jamil Qureshi) S.E (C.O.D)

Member

Director (Design & Estimate)

KARACHI WATER & SEWERAGE BOARD

OFFICE OF THE DIRECTOR (DESIGN & ESTIMATE) BID EVALUATION REPORT

1	Name of Procuring Agency:	KARACHI WATER & SEWERAGE BOARD
2	Tender Reference No:	SPPRA Serial No.35353 I.D No
3	Tender Description/Name of Work/Item:	PROVIDING AND FIXING ELECTRICAL ACCESSORIES I/C FIXING OF MAIN CIRCUIT BREAKER 800 AMP WITH REWINDING OF MOTORS COMPLETE JOB ETC AT 70 MGD COD HILLS
4	Method of Procurement:	Single Stage (One Envelop)
5	Tender Published:	Through SPPRA Web Site
6	Total Bid Documents Sold:	<u>3 Nos</u>
7	Total Bid Received:	3 Nos
8	Technical Bid Opening Date (if applicable):	<u>N/A</u>
9	No. of Bid Technically Qualified (if applicable)	N/A
10	Bid (s) Rejected:	<u>01 No</u>
11	Financial Bid Opening Date:	14-12-2017

12 BID EVALUATION REPORT

S #	Name of Firm / Bidder	COST OFFERED BY THE BIDDERS	RANKING IN TERMS OF COST	COMPARISO N WITH ESTIMATED COST	REASON FOR ACCEPTANCE / REJECTION	REMARKS
1	M/s.Haris & Khurram	Rs.9,70,049/-	1 st Lowest	@2.794% Above	P.O and required documents are available. P.O # 04132284 dt:07-12- 2017 Rs.20,000/-from Bank Al Habib Ltd Stadium Road Branch Karachi.	Substantially Responsive
. 2	M/s.Universal Enterprises	Rs.9,73,995/-	2 nd Lowest	@3.213% Above	P.O and required documents are available. P.O # 18033107 dt:28-11- 2017 Rs.20,000/-from HBL Sindh Secretariat Branch Karachi.	Substantially Responsive
3	M/s.Orange Star Executor	Not Quoted	2	-	Pay Order not attached.	Un- Responsive

The all concerned bidders are being informed accordingly.

The E.E Concerned for compliance of Rule-45 of SPPR 2010 M/s.Haris & Khurram declared as the lowest responsive bidder by the Committee and recommended for sanction from Competent

Authority.

(Zufar Ahmed) D.A.O (C.O.D)

Member / Secretary

(Saif-ul-Haque)
Additional Director Internal
Audit – KMC Member

(Maqsood Ahmed Shaikh) Superintending Engineer (KMC) Member

(Zahid Jamil Qureshi)

S.E (C.O.D) Member (Saifuddin) /3.727 Director (Design & Estimate)

COMPARATIVE STATEMENT

Name of Work: PROVIDING AND FIXING ELECTRICAL ACCESSORIES I/C FIXING OF MAIN CIRCUIT BREAKER 800 AMP WITH REWINDING OF MOTORS COMPLETE JOB ETC AT 70 MGD COD HILLS

	Item No	Description of Work	Estimated Cost					M/s.Haris & Khurram		M/s.Universal Enterprises	
b	140		Quanti	ty	Rate	Per	Amount	Rate	Amount	Rate	Amount
	1	Rewinding of electrical motor 3 phase 400/440 volts 50 cycles with best quality insolated copper wire of required gauage including testing on load with		/	ų.						
		satisfactory result upto one weeks time opening and refitting and replacing the bolts if necessary excluding the cost of warn out material. 60 HP	2.00	Nos	56608.00	Each	√113,216.00	56600.00	113,200.00	56700.00	113,400.00
	2	Providing and fixing circuit breaker 800 amp TP setting 500-800 amp (XS-800 NJ) on prepared board as required.	2.00	Nos	90956.00	Each	181,912.00	90950.00	181,900.00	90950.00	181,900.00
	3	Providing and fixing circuit breaker 15-20-30-40-50-60-75 and 100 amp TP (XS-100S) on prepared baord as required.	4.00	Nos	9261.00	Each	37,044.00	9260.00	37,040.00	9260.00	37,040.00
	4	P/F Magnetic Contractor FC-65 N (110A)	3.00	Nos	13075.00	Each	39,225.00	13075.00	39,225.00	13075.00	39,225.00
	5	P/F Magnetic Contractor FC-80 N as required & as per instruction of E/I.	× _{3.00}	Nos	16705.00	Each	50,115.00	16700.00	50,100.00	16700.00	50,100.00
		P/F Magnetic Contractor FC-125N as required & as per instruction of E/I.	3.00	Nos	29010.00	Each	87,030,00	29010.00	87,030.00	30000.00	90,000.00
		Providing and fixing over load relay for size 6,7,8,8A and 11 model FT 190 as required and as per instruction of E/I.	3.00	Nos	15861.00	Each	47,583.00	15860.00	47,580.00	15900.00	47,700.00
		Providing & Fixing cartage fuse 500 amp.	6.00	Sets	3500.00	P/Set	¥21,000.00	3850.00	23,100.00	3900.00	23,400.00
	9	Providing & Fixing New Ball Bearing No.6311/C3 (FAG or Equivalent).	4.00	Nos	3972.00	- 1	V15,888.00	4369.00	17,476.00	4400.00	17,600.00
		Providing & Fixing New Ball Bearing No.6319/2z (FAG or Equivalent).	4.00	Nos	24703.00	Each	98,812.00	27173.00	108,692.00	27175.00	108,700.00





Name of Work: PROVIDING AND FIXING ELECTRICAL ACCESSORIES I/C FIXING OF MAIN CIRCUIT BREAKER 800 AMP WITH REWINDING OF MOTORS COMPLETE JOB ETC AT 70 MGD COD HILLS

Item No	Description of Work	Estimated Cost				M/s.Haris & Khurram		M/s.Universal Enterprises		
140		Quan	tity	Rate	Per	Amount	Rate	Amount	Rate	Amount
11	Providing & Fixing New Ball Bearing No.6409/C3	1	,	~	-	,				
	(FAG or Equivalent).	4.00	Nos	6245.00	Each	24,980.00	6869.00	27,476.00	6870.00	27,480.00
12	Providing & Fixing New Ball Bearing					1				
	No.6312/2Z/C3 (FAG or Equivalent).	4.00	Nos	5059.00	Each	20,236.00	5565.00	22,260.00	5570.00	22,280.00
13	Providing & Fixing New Ball Bearing No.6215		1	V	,	~		\sim		
	(FAG or Equivalent).	4.00	Nos	4705.00	Each	18,820.00	√ 5175.00	20,700.00	5180.00	20,720.00
14	Providing & Fixing New Ball Bearing No.29415-B	1	1			1				
	con bearing for a wash water pump (FAG or		1	~		3				
	Equivalent).	1.00	Nos	65045.00	Each	65,045.00	71550.00	71,550.00	71600.00	71,600.00
15	P/L (Main or Sub-Main) PVC insulated & PVC	1			,		1			
	sheeted with 4 core copper conduct 600/1000	\vee		~		V	1	\sim		
	25mm2.	26.00	Mtrs	4722.00	P/Mtr	122,772.00	4720.00	122,720.00	4725.00	122,850.00
	TOTAL QUOTED / CORRECTED COST					943,678	D.	970,049		973,995

(Zafar Ahmed) D.A.O (C.O.D)

Member / Secretary

(Saif-ul-Haque) Additional Director Internal Audit - KMC Member

(Maqsqod Ahmed Shaikh) Superintending Engineer (KMC) Member

(Zahim Jamil Qureshi)

S.E (C.O.D) Member

(Saifuddin)

Director (Design & Estimate)

FIRMS / CONTRACTORS

NA	ME	OF	WO	RK:

Providing & fixing Electrical Accessories 1/c.
Fixing of Mann Civant Breaks 800 Amp in the
rewinding of Molovis Complete Job at 70 MgD

CoD Hills

Date of Opening: (4.12-2017)
Time of Receiving: 02:00 PM
Time of Opening: 02:30 PM

Serial No.

s.no	NAME OF CONTRACTOR	NAME OF FIRMS	SIGNATURE
),	Muhammed Nisa	Orange Slar Exceptas	- Joan
2_	Zagar Siddign	Universal Enterpriss	Zafur,
3	Khurram Nisar	Haris & Khurran	ter-mi
	\bar{\pi}		1
	2 3		21 24
		18 41 4	3 000113 1
	Ÿ.		t